INORAN JAZZMASTER ROAD WORN ® (014-1310-305)

PARTS LAYOUT

34)35
- —
@ - 5 (9)19 L~
COTCAN == CC =
(15(16)18)19) ‘ 36)57

34 )35

o Page 1 of 5
;%@ COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION JUN 10, 2015 - Rev. A




INORAN JAZZMASTER ROAD WORN ® (014-1310-305)

PARTS LIST
REF # DESCRIPTION PART NUMBER
1 BODY 60S CLSC JAZMASTER OWT RELIC 7708396516
2 | NECK 60S CLSC JAZMASTER RW RELIC 7706217000
3 | KEY,VINT ST RDWN 0047912800
4 | BUSHING KEY VINT RDWN 0053020800
5 | SCRW SMAB 3x3/8 RHP NI RDW 0011357849
6 | STRING GUIDE NCKL RDWN 0010389400
7| SCREW SMA 3X5/8 RHP NI RDWN 0011358800
8 | SPACER STR TREE 62 STRAT RDWN 0020423800
9 | PICKGUARD JAZZMASTER SS WHT PEARLOID REC 7708363800
10 | SCRW SMAB 4x1/2 OHP NI RDWN 0015578800
11 | SWITCH 3 POS TOGGLE AGED KNOB RDWN 0053694400
12 | WASHER LOCK INTL 3/8 X .687 0016436049
13 | WSHR FLAT 3/8x.614 NI RDWN 0031153400
14 | SWITCH SLIDE SS 50 DP DT RELIC 0017079400
15 | SCRW M 4-40x1/4 OHP NI RELIC 0015719400
16 | KNOB DISC PRESET CNTRL 1"x.25 RELIC 0054455400
17 | CONTROL MINIPOT 1MEG LINEAR W/NUT 0054457000
18 | CONTROL MINIPOT 50K LINEAR W/NUT 0054458000
19 | WASHER LOCK INTERNAL TOOTH 1/4 0016451000
20 | PICKUP ASSY 65 JAZZMASTER NK V.WHT RELIC 0094013400
21 | PICKUP ASSY 65 JAZZMAST BRG V.WHT RELIC 0094012400
22 | SCRW WD RND HD 3 X 1 NIRDWN 0016295800
23 | ASSY MUSTANG BRIDGE W/THR SADD RELIC 7705076801
24 | BUZZ STOP BP-0653-010 CS CHR RLC 0059041800

o Page 2 of 5
;WJ@@ COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION JUN 10, 2015 - Rev. A




INORAN JAZZMASTER ROAD WORN ® (014-1310-305)

PARTS LIST
REF # DESCRIPTION PART NUMBER
25 | TREMOLO ARM KNOB VBT005 AGED WHT RELIC 7705092800
26 | SCREW SMAB 5X1 OHP NI RDWN 0015610800
27 | KNOB JAZZMASTER VOL LOGO V.WHT RDWN 0098095800
28 | CONTROL 1 MG A TAPER SPLT SHFT 0992115000
29 | KNOB JAZZMASTER TONE LOGO V.WHT RDWN 0098165800
30 | CONTROL 1 MG LINEAR SPLT SHAFT 0054453000
31 | WASHER INT LOCK .035"x3/8" NI 0056790000
32 | NUT HEX 3/8-32x3/32 TK NI RDWN 0016352800
33 | JACK PHONE OPEN CIRCT 11 RLC 0021956400
34 | BUTTON STRAP RDWN 0012344800
35 | SCREW WOOD 6X1 OHP NCKL RDWN 0016188800
36 | NECK PLATE JAZZMASTER INORAN RDWN 7708362800
37 | SCREW SMA 8X 1-3/4 OHP NKL RDWN 0015636800

o Page 3 of 5
;WJ@@ COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION JUN 10, 2015 - Rev. A




INORAN JAZZMASTER ROAD WORN ® (014-1310-305)

ST T WIRING DIAGRAM

SWITCH
SLIDE SS

\ SOLDER BLACK WIRE TO
MIDDLE LUG

NECK
SOLDER BROWN WIRE TO PICKUP
BOTTOM LUGS

RHYTHM
VOLUME

CAPACITOR

3-POSITION .02 mF

TOGGLE SWITCH

RHYTHM
TONE

MASTER
VOLUME
O O 00O O O

MASTER

N
"

e N\

)

BRIDGE
PICKUP

CAPACITOR
.03 mF

OUTPUT
JACK

o Page 4 of 5
;%@ COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION JUN 10, 2015 - Rev. A




INORAN JAZZMASTER ROAD WORN ® (014-1310-305)

NOTE : ONLY RHYTHM
PICKUP IS FUNCTIONAL

WHEN RHYTHM/LEAD TOGGLE SWITCH

IS IN RHYTHM POSITION
(LEAD PICKUP IS OFF)

RHYTM / LEAD
SWITCH

RHYTHM %

é LEAD

RHYTHM VOLUME

RHYTHM TONE

THESE FUNCTIONS ARE FOR
RHYTHM PICKUP ONLY,

AND ONLY WHEN SWITCH

IS IN RHYTHM POSITION

Jomidsr

SWITCH & CONTROL FUNCTION

3 WAY SWITCH POSITION
NOTE : OPERATIONAL ONLY WHEN
RHYTHM / LEAD SWITCH IS IN LEAD POSITION
3
2 -=—3 WAY SWITCH
POSITION
/\ |
D | @B | ()|
o O
5 (O | B | @ |~—oroer
O INDICATE POSITION
@ | Foxurison { OF 3 WAY SWITCH
o V4
A C] PICKUP IS OFF 1
o
@
il - 3
g 2 3 WAY SWITCH
® 1

ASTER VOLUME
WHEN RHYTHM/LEAD TOGGLE SWITCH
IS IN LEAD POSITION
(NON-FUNCTIONAL IN RHYTHM POSITION)

MASTER TONE
® @ ® ® = WHEN RHYTHM/LEAD TOGGLE SWITCH
o © IS IN LEAD POSITION
® (NON-FUNCTIONAL IN RHYTHM POSITION)
o JSEL
Cl—
Page 5 of 5

COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION JUN 10, 2015 - Rev. A




